Fig. 1. Relationship between seed weight with protein (A), total soluble carbohydrate (B) and oil (C) in
water deficit stress and inoculation with PGPB. (D0: 100%FC, D1: 75%FC, D2: 50% FC, B0O: Non
inoculated, B1: inoculated)
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Fig 2 Relationship between (carbon: nitrogen) C: N ratio with oil (A), protein (B) in water deficit stress
and inoculation with PGPB. (D0: 100%FC, D1: 75%FC, D2: 50% FC, B0: Non inoculated, B1:
inoculated)
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Fig 3 Relationship between (total soluble carbohydrate) TSC with protein (A) and oil (B) in water deficit
stress and inoculation with PGPB. (D0: 100%FC, D1: 75%FC, D2: 50% FC, BO: Non inoculated, B1:
inoculated)
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Fig. 4 Relationship between protein and oil in water deficit stress and inoculation with PGPB. (DO:
100%FC, D1: 75%FC, D2: 50% FC, B0: Non inoculated, B1: inoculated)
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Fig 5. Relationship between oil with saturated fatty acid: SFA (A), mono unsaturated fatty acid: MUFA
(B), poly unsaturated fatty acid: PUFA (C) in water deficit stress and inoculation with PGPB. (DO:
100%FC, D1: 75%FC, D2: 50% FC, B0: Non inoculated, B1: inoculated)
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